Friday 24" April

Maths Challenge

Today’s task is a maths challenge. The most suitable questions for Year 5 are 1-5. Discuss
your working with your family. We’'ll go over the answers on Monday.

Challenge 1

Can you work out the values of each shope?
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Challenge 2

Tom has six 10p coins and three Sp coins He buys an appls for $9p and two
pencils

He has no money left, How much dogs @ penchl cost?
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Challenge 3

Here are some digit cards.

358

arnir and Donng esch make a three-digit rumber using all the cards,

&mir notices that when he subirects his numbar from Conna's numbar he gets
an angwer gregtes than 200 but less thon 400,

Whet nurnbers did they make?

Challenge 4

Frow identical rectangles are put together to maoke o large rectongle.

The width of ane rectangle is dcm. Work cut the perimeter of the lorge
rectangle.
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Challenge 5

15 idantiza| blasks are linad Up a2 shawn.

12 cm

Tha length of @ach indiwidual Black is twice the width

If all 15 blecks are then laid end to end lengthweys, what is the tetal length of
the Blocks altagether mow?
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Extra Challenge:

Challenge 6

Liam hos these three shopes

Tah

He uses them to moke different towers. He measures the height of sach tower
he mokes

18.3 cm

?7cm

Liam stacks all three shapes to make one tall tower. Hew tall is the tower?
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Maths
Discuss your working with your family.

We'll go over the answers on Monday.



